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® xy @ 2xy ® 242
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2. 4a® -12ab + 9b* & A5-E5f SHH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(da—9b) @) (24 - 3b)*
® (4a+b)(a+9b)

4a2 — 12ab + 9b% = (2a — 3b)?




3. 8x2—10xy—12y? & AFEFHAS o], A4 AS 1 2H?

D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y @4x+3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)




o o
= A=
o Fa, b, c & Fa+b+c 9 FE FSHAE?

o]-g5}o] 1112 - 1102 9] e Fat= A

1112 - 1102 = (111 + a)(111 - b) =

® 110 @ 221 @ 321 @ 421 (@)441

1112 - 110%2 = (111 4+ 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a-+b+c=441




5. 25x2-16y?> =9, bx +4y =9 W, 4y — 5x 9] Z& F51H?

@ -2 @—1 ® 0 @ 1 ® 2

~&B

25x% — 16y? =9, (5x + 4y)(5x—4y) =9
9(bx—4y) =9

ox —4y =1

Sody—-bx=-1




6.

x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242
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_+2)(x 1
=X -
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=x2_—12)x—
. +36°]U12
{Gk = . '-—E

—15x, E__?)
@)=15




8.

T o|AFA] 22 —3x—4 2} 2x2 - 11x + 12 9

® x-1 (@)x—4

@ 2x-3 ® 2x+3

¥ -3x-4=(x-4)(x+1)
2x2 = 11lx+ 12 = (2x - 3) (x — 4)




OJAFA] 3x% + (2k — 3)x — 6& 123l 5P (3x - 1)(x + 6) o]2HL
gt o] m, k 9] g2 Fstofet.

> E

> Hg: k=10

(3x—1)(x+6) =322+ 18x—x—6
=3x>+17x-6

17=2k-3

k=10




10. 22 +Ax-3 913 Q147 x—3 A uff, A 9] ghS L5toiet

> E.

> &™E: A= -5

B

2x2 + Ax—-3 = (x-3) (2x +a)
=2x+ (a-6)x—3a

-3a=-3, .a=1

" A=a-6=-5




11. x(y-a) -y +a & HIZA A5-Ealer 227

® (x+1)(y+a) @ (x+1)y-a) ® (x-1)(y+a)
@x-Dy-a)  © (1-x+y)

x(y—a)-y+a=x(y-a)-(y-a)
=x-1)(-a
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22— 2x-)? 4+ 2y B A5HalatdEy]
(x+ay)(x— by +¢) 7} ek, olwh a + b+ ¢ o) L2

¥ -2x—-y* +2y =x>-y?-2(x-y)
— (x4 9)(x-3) ~2(x-3)
=(@x-yx+y-2)

Ot a=-1, b=-1, c=-29BE2 g+ b+c= -4




13. 22 -2xy +)? - 95 ARt x,y o] At 4
okef=t

> E.

> Hehl o
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[e]

94
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x2—2xy+y2—9 = (x-y)2-32
=(x-y=3)(x-y+3)
21-1-3+1-14+3=0
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21250 k. AL o3}
A& v 2 A JIFE&5HE a(x - b)(x—¢) € W, a+b+c 9 S

T-stefet,

A2 3x% - 22x + 24 oA 45 +24 & BA BYAL,
2 3x% - 18x - 21 A x o] A5 18 & UHA| Eotrh
wh2bA 3x% - 18x 4 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4

~a+b+tc=9




16.

® 4a+3

Ar7VE]

Q1 o

1
Szix(“L:'L)x(Ba—5)

3a> +a—-10= (3a—5)(a+2) =1><(?E‘ H) x (3a - 5)
b W] dol=

= (a+2) x2 = 2a+4 o]t}

[\V]

94



x—y=A 2 A%}ty
(x-y)(x—y+6)+9=A(A+6)+9
=A%+ 6A+9
= (A+3)?
= (x-y+3)*




(x2 —4)(x? = 1) —40 = x* - 5x2 - 36
=(x2-9)(x2+4)

= (x+3)(x=-3)(x2 +4)




19.  x2—4xy+3y?—6x+2y-16 = 523l SFAEY (x+ay+b) (x+cy+d)
7 EQth ol W, a+ b+ c+d 9] GH2?

@10 209 008 @3 O

B ~
x o tiske] A 2shH,
x% = (4y+6)x + 3y + 2y - 16
=x? - (4y +6)x+ (3y + 8)(y — 2)
=(x-3y-8)(x-y+2)
a=-3,b=-8, ¢c=-1,d=2
. -3-8-14+2=-10




20. v =g AET F29 HWols yEdH -

o] o AL9 , SE
_ _ b
@ (@-2)(b-1) \
\
@ ab-1)-2(b-1) [

@ab—i—Z
@ b(a-2)-(a-2)

® ab-2b-a+2

~&B

AR HEO] Hol: (a-2)(b-1)
@ab-1)-20b-1)=(a-2)(b-1)

®ab+2

@®ba-2)-(a-2)=(a-2)(b-1)
®ab-2b-a+2=ab-1)-2(b-1)=(a-2)(b-1)
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ot A, B, C o €92 =5 &AH=Z vIZ27
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?

@16, 6, 3 @ 8,6,3 ® 16, 3, 6
@ 8, 3,6 ® 6, 8,3

~&B ~

a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




22,

O0<x<l1l, —2<y<-14¢0, 4

V)2 + V/(x+y)2 —dxy — /(x—y)? + 4xy

® -xy (@)2x—xy
@ 2y - xy ® x-xy

® 2x+ xy

V(x+y)2—dxy = /x2 = 2xy+y?
= V(x-y)?
\/(x—y)2+4xy: \/)c2—|—2xy—|—y2
- JErypelne
(FA1) = oyl + be =yl = e+
=—Xxy+x-—-y+x+y
= 2x—xy
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> He: x+2

Z Hole a2 +4x+4
x> +4x+4=(x+2)?
wrabA] gk ¥ o] Zdol= (x + 2)




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab
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